5 10 15 20 25

| N of associated (recoToSim) looper tracks vs dxy |

[\ of associated (recoToSim) tracks vs dxy |

05 =50-15-10 =5 0

5

| N of associated (recoToSim) looper tracks vs dz |

25-20-15-10-5 0 5 10 15 20 2

0.95!

N of reco track vs dxy

n
3\
o
I3V
Lo
—
o —
— 3
[ts) H
L
o g
i g
3
o
e
—
| 8
Lo 2
] &
! B
o i H
B B . . N ] .
i 10 2 i i HE: o
PRRPEE PITTTINE MTTRTE TITRATEN PITTRArE TR 1Y L @ JTERTES T
I 3 o ~ =) =1 B N 3 3 < = ~ =) = 7
o o o o =1 - J s o o o o =1 2 J
- — - - m o = - — - - Bl o
_m, o
E=
odey
afal
Oy 0 (=}
IT T 3V ]
I~ -
K o
- R T) I3V
H- —
5> o
I 949 — o
‘afal —
Lo
=) o

-10

-20

0

r)
o
—

Ly

'=25-20-15-10 -5

0.

N of reco track vs dz

N
o
—

o

Ly

5

0.!



	Contents
	Page 1


